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1st calcs:
The Volume of the 1st floor is approx. 4,478 CF, as compared to 2437 CF for the 2nd Floor, just a little over half the volume for the 2nd floor. 
I'm confused as to why the pergola is being included in the garage footprint. 1230.14 Building footprint excludes among other things, 'arbors open to the sky,' which is all the pergola is, though ledged up against the garage wall. There is no planar covering included in it, so it is not rain cover.

2nd calcs:
The Volume is calculated using Revit and its Rooms, which calculate the interior volume to the interior faces of walls, Floors, and ceilings. The first Floor was calculated in the same way. For the second floor, I also added the volume of interior partitions to ensure the volume was biased high. I had not included the stair, or the space beyond the knee wall, as it is not occupiable space part of the floor. 

The 2nd floor Breakdown is: 
Art Studio: 2036 CF 
Bathroom: 324 CF 
Partitions: 79 CF 
Previous Total: 2439 CF (Slight change due to a model correction) 

Stair at landing: 172 CF 
New Total: 2611 CF Ratio: .583 
If Including Knee Space: 342 CF 
New Total: 2953 CF 
Ratio: .659
